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The question paper is in the form of test booklet. All candidates will be assessed on identical guestions.
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Read the instructions on the OMR sheet carefully. Use only ball Point Pen {Black or Blue) for writing /
shading / bubble on OMR sheet and marking your answers.
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A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On
completion of the test tear the OMR Answer sheet along the perforation mark at the top and handover the
original OMR answer sheet to the invigilator and retain this duplicate copy with you.
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Each objective question is provided with a text and/or figures wherever applicable with multiple answer
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1. ket W Hiet °§ -2 YA

Star / delta starter in 3-phase induction motor :
(a) WG T 9 YEE EIFITﬂ;Jf =TT & / Reduces starting current and starting torque

(b) TG O HEET B AN e HFIT'ELUf TG 8 / Reduces starting current but increases
starting torque

() YA o @ g S gedd EIFITE@ Tl & / Increases starting current as well as
starting torque

(d) YT g Serl 2 S yaad EI‘@TE@ 52Tl 2 / Increases starting current and reduces
starting torque :

2. el Wi & Iy & A il w % fore e Smar § |

Synchronous motor is installed at receiving end of substation to

(a) m‘ﬁ'ﬁﬂﬂﬁ T Y49 / Improve the power factor

(b)  3Ushg el § FeLan / Stabilize the substation voltage
(€  I9gw g wE F 8g/ Perform both of above functions
(@ T T e ot e %@ T8l / Perform none of functions

3. e, 4 qraredl gan % forg Frferfaa & & @ @ ftonfis s sepe 27
Which of the following transformer connections are best suited for 3 phases, 4 wire services?
(2 A-A ® A-Y |
© Y-A (d) 3T # W HE T/ None of the above

4. it 3w o % aed § Sefifan § @ S o s wd 8 2

Of the following statements concerning parallel operation of transformer, the one which is
not correct?

(a) Uiy § GaF dSieed 37qHd EHT A1fE¢ / Transformers must have equal voltage ratings
(b) ONONA § THE E9EE i) BT 18T / Transformers must have same ratio of

transformation
(o) qROTREE ® qWE 3417{%[ YU AT ST =T / Transformers must be operated at the same
frequency . |

(d)  uRonfE # T kVA 319d 891 =18Y / Transformers must have equal kVA ratings

TE-04 3 March 2019
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5. HiE - o7 U YETHE g 8§ il

A lead — Acid cell is rechargeable because .
(a) 39T $ﬂ¢;1d1§¢ HeR{h BT 8/ Is electrolyte is sulphuric acid |
(by I e AR/ Itis Wetqeﬂ | i
I (¢) 3T UAEHE TR Ik 8 gehdl 2 / Tts chemical action is reversible |

(d) 3UF FoiianEe w1 fHfE Tocd 3= 2T 2/ Its electrolyte has a high specific gravity

6.  YeuElad o &3 qiuy i o yardt Bt 2

The field circuit of an alternator is supplied with

(a) QIEEEH 9T/ An oscillating current (b)) 38 9T / A direct current

(c) YeaTadl 910 / An alternating current  (d) TIGHE ¥RV A pulsating current

7. I AL @ wErht dtezat (V) # faskfia semept (7) i dee T8 gt s R

The relation of the torque (7) developed in an induction motor and the supply voltage (V) is
given by the expression

(2) T AT 3 VA /T proportional to vV

(by T AU & V& /T proportional to V

(¢) T ouEudt 2 V? @/ T proportional to V2

(d) TauEaEi® 1/ V2 &/ T proportional to 1/ V2

8. it e Avf yad @ g QA 3 el Yor et § oy uRey @ g e gr & S 8

In a three phase induction motor started by DOL starter, protection against short circuit is
given by the : .

(a) IR i 7 Over load relay (by TaEieea %Fﬁ / No volt coil

{(c) aﬂ'ﬁﬁrﬂT RLH / Back up fuses (d) AN e / Single phasing preventer

- TE-04 4 March 2019
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10.

11.

12.

TE-04

Tawa # v gy fed AT 39w 27

“Fall of Potential” is a method used for measurement of

(a) ‘H\Eﬁlﬂ‘a / Barth Resistance (b) T TR / Line Resistance
(c) W / [nductance (d) wfF/ Power
BT THTE 2 a3 A g S99 R

Hall Effect Tong Tester is used to measure

(a) ACTI DC &1/ AC and DC Current ®) DC gea/ DC Voltage

{c) AC dieamr/ AC Voltage (@) I Tl / All the above

g ATl § @uged 58 den fiern 9er 2
Impurities are added to pure semiconductors to increase the

{a) gferiererRar / Resistivity (by =Tetehdl / Conductivity

(c) |1l / Capacitance (d) 3uT® H H HE T8/ None of the above
TG HISA T Hehal 1 ATH 1016 &
Form factor for the pure sine wave signals is
(a) 0.707 (b 0.637
(c) 0.9 (dy 111
5

March 2019
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13,  WiadE s a3 !

The reciprocal of resistance is

(a)  =rerehdl / Conductance (b) 3=IT§F%HT / Susceptance

{c) Uidemen / Impedance (d) wfdEmd / Reactance

14 60 W 3t 25 W & 3 oy wam dieear #9d § 81 25 W o9 %1 Jiatsd ————|

60 W and 25 W lamps are of the same voltage rating. The resistance of 25 W lamp 1s

(a) 60 W w79 9 %4 / Lower than 60 W Lamp
(by 60 W @ & 99 / Same as 60 W Lamps
(¢) 60 W &= ¥ S91@ / Higher than 60 W lamp

(d) 36 # F RIE T / None of the above

15, Feg e vef e w1 3T e &g Fre s )
In electrical machines, laminated cores are used with a view to reduce
(a) fees it =1 / Hysteresis loss M) &t v & / Eddy current loss
(c) aran =/ Copper loss d) IH® # 8§ ®iE 921 / None of the above

16. 12V, 3Ah fafryareh &<h | 10 92 s A feped SHEmd g |

The current which can be approximately drawn for 10 hours from a battery of specification

12V, 3 Ahis
() 0.03A (b) 03A Lo
() 0.15A (d) 15A

TE-04 ' 6 \ March 2019
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17.  dF e 400V, 50Hzﬁwnﬁaaﬁa@anﬁ715RPM%l.wﬁqﬁga?a%é@n%:ﬁ@1ﬁ?

A three phase, 400 V, 50 Hz induction motor has rated speed 715 RPM. How many poles are
there in the machine?

(@ 2 | ® 4
© 6 @ 8

18,  oifed ya wer § sifea seeht w1 39T

The purpose of the shaded coils in a shaded pole motor is to

(a)  TOff geehRr &F S IR FET/ Produce rotating magnetic field

() =W = 92/ Reduce friction loss
(cy  Torwm fem 9ftads =0 % / Reduce rough commutation

() =R faferan T2FT / Reduce armature reaction

19. YBEEl (d) W @ YHR G & FROT I8 W LN # uftafda gt 2

The Nlumination at a surface due to a source of light placed at a distance {d) from the

surface varies as

@ 1/d* ®)  1d

(c) d @ d

20.  WERY i W11 KV HT & Rk e 780 W % 8 YR % o foreiel =0 s g 27

What is the type insulators used for holding the 11 KV HT overhead conductors on straight

running of poles?

(a) ® 3751\?!2'{ / Stay insulators (b) Y= dEy ?F%l@?? / Pin type insulators
(¢) e T3@et / Shackle insulators (Q) 3906 Tl / All the above

TE&OLI . 7 . March 2019
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21. U el Hie B uF v g fF ag
One of the characteristics of a-single phase motor is that it
(a)  E&d: Sadl Bt 2/ is self starting
(b) T Wael el Bt 2/ is not self starting
(c) 30 ok = %FFT IITIF 2 / requires only one winding
(d) Tk ue fom 9 ot X T&dl 2 / can rotate in one direction only
22, H THA Sl S A g Y e 6 IR e s g 2
The direction of rotation of a single phase induction motor can be reversed by
(a) @M % AT TASHI F1 Seoh ik / reversing the connection of both windings
(b)  WAIH FEEH HT HAISH 1 IHH Hh / reversing the connection of starter winding
(©) GTF@ AT 1 3R 5 / reversing supply connections
(d) - 3T FHATAT T T ITANT Bl [ using a reversing switch
23. 1000 WMHe e TR & T8GR 250 Voac ¥ SQl W B v e dieear 400 V & R’
Tt a1 BT =)
A transformer having 1000 primary turns is connected to a 250 V a.c supply. For a
secondary voltage of 400 V, the number of secondary turns should be
(@ 1600 ' b 250
(c) 400 (d)y 1250
24. o Pl IR qhonfis @ myfie R fgdias T em fs E1 3t E2 gaam |

The primary and secondary induced e.m.f s E1 and E2 in a two winding step up transformer
are always .

(a) i@ T B 2/ equal in magnitude

() UH @ W Ten Ut B B/ anti-phase with each other

(€)  UH W ¥ e H B 2/ in-phase with each other

(@) uionfam fidees % w8 Fifvaa = St 2/ determined by the load of the transformer

secondary

TE-04 8 March 2019
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25. I SRS & AT ShT fSET W o, Sopd B o sifiean Sieed W Ear € 39 FEd Bl
Maximum voltage that a diode can withstand in the reverse direction without breaking
down is called :
(a) Hq‘fﬁ atwedm / Saturation voltage (b) 3I=qH SgohA dlicedl / Peak Inverse voltage
(c) =g aleedn / Knee voltage (d) I=IaH dieedl / Peak voltage
26.  TH H HH W IHH PN SRA SIS it # FE e orgafy gar 27
Which characteristic of PN junction diode allows it to function as a rectifier?
(a) W 1@ / Junction capacitance
(b)  fomur =nfar / Diffusion capacitance
(¢) a1 - 9y AhEf TT‘H'E[ { Forward and reverse biag characteristics
(d)  Heewur i / Transition capacitance
27.  Ge sreurcre ¥ afifa gt saue 3@ e § @t 2 |
The forbidden energy gap in a Ge semiconductor is in the range of
(a) leVto 2eV (b)  2eViodeV
() 0.6eV to 0.72eV (d) TeVito8V
28. BN Uh WM W fommw, vedw f ungd siftw oewn R, sw omen w1 owem e R

Often a common collector configuration will be the last stage of the amplifier before the load;
the main function of this stage is to

(a)  Tleedr @9 &A1/ Provide voltage gain

(b) =T oA 21/ Provide phase Inversion

(c) wfqamen o fiens / Provide impedance matching
(d) 39UE H T 2 98 / None of the above

TE-04 9 Marech 2019
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29. 2.t wifm # fep ahad w1 e w1 A 2

The main function of a commutator in a dc generator is

(a) Tt =t wElt 8 e 1/ To convert de to ac
(b)  wEl =i feHl | weem1/ To convert ac to do
(c)  wHl = uE A seert / To convert ac to ac |
(d)  feut =t &l T 5@ / To convert de to de |

30.  DC uftay =1 itk vk |

The power factor of a DC circuit is
(a)  FHA/ Unity (b) I/ Zero
(c)  JMHE o 0/ Less than unity () I | SEE/ Greater than unity

31, 9EA I gae 3 Fefatad 9 @ @ A suge 37
Which type of fire extinguisher is suited for extinguishing electrical fire?

(a) WS - 37T HAEYMF / Soda — Acid Fire Extinguisher

(b) e SRIFATES AAEHHF / Carbon — Dioxide Fire Extinguisher
(c) % SIS / Foam Type Fire Extinguisher o
(d) Ut/ Water ;

32, witnfi it i gavar sifeekan ]

Power efficiency of a transformer is maximum

(@) 9 g Wyl Feifa emiar R B4 8 / When it is loaded to its full rated capacity
(b) Gﬁ’&%’ﬁ{ﬂWrﬁ_cr'@m%%ﬂﬁﬁaﬁﬁ%ﬁaﬁ%wﬁ%/“f}lenﬁmloadedsuch

that copper losses are equal to iron losses

(c) S FE SATRF ®7 § 99 82 ¢ / When it is partly loaded
() <9 3WRE § § HiE T 7€ war 8 / When none of the above conditions occur

» TE-04 10 : March 2019 -
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33. 1 STaTIRdl H QU FH F Y S diet w1 e e oot Rex Jeehi sfEm 6 @
e & =@ 3 -

34.

35.

36.

TE-04

The main reason why the rotor of an induction motor runs in the same direction as the
rotating stator magnetic flux is to meet the requirement of

(a) @ f=m / Lenz's law
by = Femy Faradays law
(c)  FATHT o a7 g5 R / Fleming's left hand law

(d) T T B W/ Fleming's right hand law

Tt fowsh wehel e ST Hier § T 2 2

A permanent split single phase capacitor motor does not have .
(a)  Ahg fem centrifugal switch (b) AT amsEin / starting winding
{c) fetrter o) Qex / squirrel-cage rotor () = wufra Tk / high power factor

SRR it fdfias dieear i ol B 2
The frequency of the secondary voltage of a transformer will be

(a) TR Acedr dt 35!1’0[% ¥ F4 / Less than the frequency of the primary voltage
{b) e ezl 6 mﬁf & HA / Equal to the primary voltage
(9] mufies ateedn i @T@% ¥ S97ET / Greater than the frequency of the priméry voltage

(&) WS dieear H 3417{% o sgd Sal / Very much greater than the frequency of the
primary voltage

g forga Aot § Tew ot RX Ty ool w1 2 39 A FEd 2

An electric motor in which rotor and stator fields rotate simultaneously is called a
motor.

(a) Tedt/DC (b) 9T/ Induction
(c)  geshItets / Synchronous (d) @f&® / Universal

11 ' March 2019
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37. Tafoiee d fom 7 s=aaw araear g 27

Which of the following has highest conductivity? |
(2)  ®MT/Gold (by =Mat/ Silver |

{c) qaT / Copper | (d) C‘ﬁ@ﬁﬁ'ﬂﬂ ! Aluminum

[ S o e

38. T=fafaa § @ @m WWWW%%?

Which of the following lamp has least operating life?

{a) ‘Fﬂ;ﬁ'ﬂ? 7 / Fluorescent lamp (b II'G@IDI AW @ / Mercury vapour lamp
(©  WiEE W @ / Sodium vapour lamp (d) We.2.€% / LED

39. TN TR UEHF B

Lumen is the unit of

(a) TR W qUreed / Light wavelength (b) wer Fl digar / Luminous intensity

(c) EFITEQ% / Frequency (d) =TT 1 9498 / Luminous flux
|
40. 3= 79 Tl 9w Ay efafes § & — 1 H&H SIS % ¥ # Y& Gl 2 |
High pressure Mercury vapour lamp uses one of the following as main electrode |
(a) @&/ Copper (b) =/ Bronze
(c) Wi@?/ Quartz (dy <=/ Tungsten |

"TE-04 12 _ March 2019
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41.

44.

42.

43.

35ohmsaﬁt150hms§%ﬁwmﬁﬁvﬁwﬁqaﬁm5vézﬁmqmm%aa 15 ohms ®
iezdr 91g feha=1 g ?

In a series circuit having Resistors of 35 ohms and 15 ohms, if a battery of 5V is connected
across the combination, what is the voltage drop across 15 ohms?

(@ 5V b)) 35V
() 15V (dy 2V

3 el i ARy (Fe) § W AU H YW HEarel qr 2A 31t 5A R A Rawie % g Frm  sEw
| o Feper arclt o @ o

In a node having 3 branches, if the currents entering the node are 2A and 5A, then as per
Kirchhoff's current law, the value of current leaving the node is
(a)y 2A (by BA

(c) 3A @ 7A

Frafafea sl § yfles Re W Sieed 95 &1 e o)

In the figure below, find the voltage drop across the resistor Rs?

R:=100Q R:=400Q

Ry=600

(a) 20V , (b)y 50V
(0 30V (d 100V
FOTCAe: TOHE 1ol et § widigs gea l

In resistor with negative temperature coefficient, the resistance value
(a)  WHWH HeA | 9 2/ Decreases with decrease in temperature

{h) A T84 @ Hedl 8 / Decreases with increase in temperature

(c) AU 8o | deadl 941 / Does not change with temperature
(d) I9E H F 1T T8I / None of the above

TE-O4 13 March 2019
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45. 9 ScaEkaa 1 id Tedt @ 99 e l

When the speed of alternator increases, the frequency

(a) Elﬁ?ﬁ 2/ Increases (by uedl B/ Decreases
(c)  ¥mF B 2/ Remains same (d) I H [ i T8 / None of the above

46.  Trafafas d @ =9 w1 g voma O g gem w27

Which among the following provides protection against electric shocks?

(a) @R w9y FES® (MCCB) / Moulded Case Circuit Breaker (MCCB)
(b) 9 &or gftuyr e (ELCB) / Earth Leakage circuit breaker (ELCB)

(c)  org=y uitay fe=iesh (MCB) / Miniature Circuit breaker (MCB)

(d) =g 9imy RS (ACB) / Air Circuit Breaker (ACB)

47,  Tieafoiga # @ =17 4 @t #, 9 7 vefda F0 % R s gy 5 ser soawa 87

In which of the following motors, external resistance can be added to start the motor?
(a) wHAd Yd @Fﬂ?l‘%ﬁ e / A salient pole synchronous motor
(b)  wia@ U AL/ A slip ring induction motor

(c)  Teota Towr Yur #iet / A squirrel cage induction motor

(d) g;)sfghd T g@lchll?dch ot / A wound rotor synchronous motor

48. o7 T e R Tt B

Rotor of induction motor runs always

(a) g?qaﬁr%@ T | / At synchronous speed

(1) Q’FEFI'%EB g ¥ S7E fd 8/ At more than synchronous speed
(c) TeARITCTE TG & oA T # / At less than synchronous speed
(d) g7 & fawdia e 9/ Ih opposite direction to the field

© TE-04 14 March 2019
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49.

50.

B2.

TE-04

3 TS T HIeE W Iohd fomn | el o e @ 27

What is the cause for 3 Phase induction motor to run in the reverse direction?

(a)  dtced TerEft Wl &€t 3 / Supply voltage is not correct
(b) Wit & yaad it Ugfd T 2 / Starting method of the motor is not correct
(¢)  verfl T 1 U T 33 T R/ One fuse of the supply line blown

()  Terh @dT i wen ATHEH FT IhH & T 2 / Phase sequence of the supply line got

reversed

ISI #IT % ATER g Fa9- 5 33 & @ @ 6 an f gl 1 18 20

Which color wire is recommended for earth connection as per ISI code?

(a) i/ Red (b) B/ Green
() &/ Blue (d) =T/ Black

G QiR T TR e e fagiees 2
The circuit breaker which generally cannot be serviced is

(a) o gims B / Oil Circuit breaker

(b)  HE yituy fFiS / Miniature circuit breaker
(¢  I1g uRwy fordister / Air Circuit breaker

(dy g wwie gfty TS / Air Blast circuit breaker

et % don F qaa HESE W F

Cells in battery are connected in parallel to

{a) AR Yl o8 / Increase the internal resistance
(b)  Areeal &9aT 96 / Increase the voltage capacity
(c) 9T &9d] 98 / Increase the current capacity

(d) TN &9 B2 / Decrease the current capacity

15 March 2019
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53.  AC =l sdan DC =1 &7 BRIl &
The main advantage of DC over AC is
{a) T W4/ Easy generation
(b) T g= / Easy transmission
(c) ITA S ST HHH / Step up and step down easier
() T=H W/ Easy storage J
54. Tefafeg d @ o ® wron @ sRonlist § et Teud B el @i oA yde e s 27
Star connection is preferred over Delta connection in transformers due to which of the !
following reasons?
(a)  Iivedl Y= %A BT 2 / Reduced voltage operation
() FH SN T 949 / Less number of turns
(c)  Teihl o TR H seil / Increase in the size of conductor
(d) 37U meft / Al the above
55.  Tifaiad # wH 8 9gre o 39 O aTIHEE g 8 v
Which of the following material has highest melting temperature?
(a) iy / Aluminum (b) @@/ Copper
(©) I/ Lead , (&) @ () / Tin
56. Tmafafaa O & &9 8 aR 19 § 3= 97 987 9T Bl 27
Which of the following wire gauge will have highest current carrying capacity? .: :
(ay 185WG (by 20S8SWG
{cy 24 SWG (d) 26SWG
- TE-04 16 Marech 2019




/1 U R RAO SATELLITE CENTRE, BENGALURU SET
S |i5TE - TECHNICIAN-B (ELECTRICAL) C
57. 3= Towm w forrtass W Sited 3y 3T T

59,

60.

TE-04

is suitable for testing insulation breakdown adequately at higher potential.
(a) fesficar medidiet/ Digital Multimeter  (b)  dfe HieX / Wattmeter

(c) TR/ Megger (d) dieediet / Voltmeter

AR TH AB W W @ Frefafas sielt d ofiwdim g Wi wfdy qew feen @
(& R = 100 Ohms)

What is the resistance value measured by Ohmmeter in the figure below, if the terminals
are placed across AB? (Where R= 100 Ohms)?

J, R R
R R
B e
| R R
() .100'Ohms (b) 171.4 Ohms
(¢ 50 Ohms (d) 221.3 Ohms

T 1 e i TS T < e R A e |
In Pipe Earthing, the length of the pipe to be placed in earth is decided by
(a) T2t & g / Moisture of the Soil

(b) TSR H SR YW T IFE / Type of metal used for Pipe

(c) g Y "G IR H YHR / Type of Earthing wire used

(d)  3UUF ¥ & WS T8 / None of the above

ST ¥ Hele H IRl AT TWeh hl ST % o fopar <t @
Charcoal and Salt is used around the pipe earthing to
(a) ﬁgﬁﬁ%’l %1 ® / Decrease Earth Resistance

(b) Euﬁﬁa SeM / Increase Earth Resistance
(¢) a0 & 92 / Reduce the leakage current
(d)  TE ST e | U9 / Prevent rusting of Pipe

17 March 2019
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5wl 4ds TR % WAl F WA % & v 3 F o0 W i, S A 3w v of e s % e uw
37k ehlaT AT Torell W o T wIg IeR QA1 e IR W S|

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and
MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. u¥ gieert K qMfe ST SR % B w A @ B @1 € w1 D Ffem v 2, Rl OMR we w, fosd & fara
AT TR el A AT 3| e 1 0 T, IT-gfernl @1 gediea T8 fean s

Question booklets have been marked with A or B.or € or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not |
be evaluated.

7R swaya g, 9 e § SueRd ST # e FW F or ITE fR S o 21 ot @ she T8 fa s

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.
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Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.
Candidates should sign against THEIR names only. |
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At the end of the test (1) Written test Call Letters(s) with photograph pasted on it {2) Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.
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In case of any ambiguity/ dispute arises on account of interpretation of Hindi version, Engtish version shall
finally prevail.
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